[HSHRIDAY] L —X#%
L — X & 237
=KD rJ %%:A L — 2%
(FiE) (FiE)
(BWVWRD -t rF
1R 14:25 |=A V) =
M) bR XRA Y
(Ao LS OFEHAT W
2R 14:55 €W - 2L LT =
Aol BEEE - &
3R 15:25 TRy TF v L IEEE
8H3H
4R 15:55 JLyiaFyvlLrIsE
(OB ErER-TH
5R 16:25 |A 4 3) =
HEfTéh>ZF v 2l
(OFEHrHBES TLLBIE
6R 17:00 [5 Y £S5 ZAA] ) =

HEHT TLL»bEamkE]

\
li




L — X

157

BT L — 2%
(F7E) (F7E)
(OB EIDATIED
7R 17:35 | 29< Y ZE £ HLW) =
BEEfTEtE b o< ViRe
(UF->DWESOEDDARR
WLEDTIHDUVLNAT D H "
8R 18:10 g
LY)
tBEHSENE LEESS
(OB e oInHBLLAW
9R 18:45 [IT5 2 &L AHY) B
HsHERE BEHERS
8B 3H
(OB EIITAEDE L
10R 19:20 |5 HWy) B2
ASHTZ&He
11R 20:00 [EHY | LubY | BEiT =%l
12R 20:40 YAV RATERT Y - L IT A




